SH6E4R818IRHE)

+ BHET#X 1/3
No. TR 2UAF B | LR FRME & %=
1| AR —THLE fYFINAyFanFh3 3 32
2| KET—THTF fvFanqvFanivE 4 28
3| ABTER—TH woFIVEh Y49 FI9 A 3 38
4| AETFE—TH KoFIP=Y1yFas s 6 30
S5|RXET=TH Ky FI9=F37 4 2 30
6| RAET=TH foFanYoFans 2 36
7|ARHETUT B fyFanIvFan s 4 44
8| ARHTHTH woFayIFans 9 73
9| ARHTAD—TH ko FAVAy/19FI 6 105
10| ARBTAD_TH woFayny/=Fani 7 49
| AREARD=TH ko FAVAY /Y oFInA 6 75
12| SRHTER 29RFIvEhy 2 22
13| 4R HT A 790F391h 6 36
14| R ET PG 79AF3a9=y 3 26
15[+ B BT SR ET bAYFYHIFIY 7 79
16|FHTEAT B A7 FF393IVFAVA 5 83
17|SHIT—TH AhE FI94vFani 5 73
18| S HIZ-TH AhE Fa9=Fam A 8 72
19| SHET=TH IhE FI9YUFIA 5 77
20|EH=THHA AhEFanYUFanI=y 7 96
21| HET=THME A Fag o FaIosFE| 7 60
22 |3, LLIHT YTy 5 54
23|FRFOET—T B YanIFandyFani 6 58
24|FRFIET =T B ¥a79F39=FI9 4 2 22
25|FBFIET=T B Y3997 FIn 4 55
26 [FRFOETPO T B ¥a99F393vFI A 5 50
27|FasF T Y7773 2 27
28| ETHT YFry¥any 2 30
29| 5% BiT 12°3%39 7 53
30|10 % EEHT I 4 Fay 4 26




+ BHET#X 2/3
No. TEX 2UHF 2 B 4% T & %=
31| BS O 48 CT T 35 Fey 39 3 17
32|EREY) 13h7Y 6 80
33| FaHET 3R ZY97FAIELY 5 31
34|78 HAT R —y97%3a9=y 3 33
35| RGBT —T B 1FYFan4yFans 4 37
36|FRMAET—T B 1H)Fa9=Fa9# 4 43
JNNMERET=T BHAREY [1FUFav4vFanskub4y| 9 78
38| FEFRIAT=THHE AT)FargvFagreny| 2 16
| FEFIRT=T HE ATYFIOYUFanszFs | 10 83
40|FREFRT=T Bt 1) FanYvFasr44 4 35
A |FRGIETE T B AT)Fay3vFas 9 86
42|FRTTET 78 1H)Fa9=y 5 38
43|FAARET—TH ZYikvFINAvFIT A 5 63
44|BAET—TH YRy FIn=Fans 11 111
45| AR =T B ZyikvFanYuFans 7 90
46 | F X EHHET FIFFa 8 57
47|/ \ % FH BT NFIUEFIY 7 52
48| T )1| [ BT YEND7F3Y 8 66
49| = THTER SYYaFanehy 4 34
50| = THTF YYAFIN=Y 3 27
51|REAHT 297379 5 34
52 #é B AT YUrFan 2 31
53| FRAT—TH nyanFandvFans 6 83
54| FHHET—T B hyagFan=Fani 8 70
55 | 7K EFHT IR/F39 2 17
56| % = T ThIVFIY 3 18
57|H P HETR AThFanehy 3 23
58 | FH BT 7R 4thFan=y 3 38
59| HHETAEY athFankvb 4y 10 86
60| )11 = ET h97%F37 6 50




+ BHET#X 3/3

No. TR 2UHF 2 B 4% T iE &
61[E)IIET h3n9%3ay 11 117
62[HJIET—T B AR 9FAAvFIn A 8 55
63[HIIET=TH AN DFIN=Fan} 11 100
64|HJIBT=TH AN IFIYUFInA 12 100
65| 1F ZHT VSEVEV) 8 95
66 ;138 MY 3 41
67|32 #1937 2 16
68|:%ith V4 2 6
69|E A AN 0 0
70{Kth 1147 1 2
|+BEHRE MHYFTHYF 3 11

370 3,609




&% 3 (X 1/2
No. TEX 2UAF 2 B 4% T & %=
72| #EESE— Y447 13 106
T3|#TEEE — Yoy a4= 11 102
TA|FEE = YOty 10 101
75| #EEE D — YU A 43v/4F 8 83
16| FTEEE MM — Yo a43v/= 8 82
77| AHETH— foFANTHFIIMF 18 168
18| AETETHZ foFanTTFaniz 12 130
79| =FOMET #¥v9%F39 6 79
80| 0 H BT H 55— HIFYUT VI 14T 5 40
81|PHEHBTHTHE— HIFYVT VI 4= 5 60
82| HHETHHAE= HIFYUT VI MY 5 80
83| P4 H BT 37 FH 55 Y WHVFIUT UE ATy 7 52
84|mI#THET—TH SFIUTVFIVAFAIIA T 63
85|FATHET—T B SFIVUTVUFIN=FaA| 8 80
86|FIFTHEI=T H VT VFAOYYFIIA 5 64
87| BT R EVLKS wR/AY] 7 102
88| 0 H BT 55— VT 147 4 50
89|PH HETE— AHYFY4= 8 89
|MBEHRTE= HVFI4HY 6 76
91|94 HET ST HIFF 43IV 5 61
92| I 14% 7 70
93| R ETHTH IhIYITY 5 54
Y| KXFE ALY 6 73
95(iF M Iha 2 24
96|91 5/ \ & 0 AEVAWE! 5 41
97| IR hun'g 11 142
98|t [ S HT AINTYIRF 5 47
99| & L HiT ThyahoF 10 86
100//B% & THEN £ h 8 89
101| s BT TheF 10 85




X 2/2

No. TR 2UHF 2 B 4% T & %=
102|&5F 4 3 27
103| FHT YUIF 6 60
104 | R S ABHT VIS 13 110
105|FES R VEVPAS 9 77
106 | Hp &l Thy ko sr 5 50
107[#8iR AT 3 22
108| P& $TH ThyanvoTy 5 32
109/db[R S IAY) 5 58
10| ZiR 17747 6 33
111|528 VED) 1 5
112|FFK NNt 3 21
113|6E%F X/ 2 11
14|z B A58 5 22
115|377k YUR4 4 36
116|FH7 R EN WD) 1 6
N7|PEEE I VEVYY B 3 9
118|117 H IUTY 1 6
IR ARX Eh'vhLEvs 3 8
120|FHE AR X —yhLEvs 1 2
121|BRF 545 1 3
122| =YL VAR 1 3
123| F AR I NG 1 6
124/ % 175= 1 5

310 2,991




JII7& 3 X 1/2
No. TEX 2UAF B4 T & %=
125))108 LRTEE— Y h3FINg 4117 5 46
126[)IB8 EBRTEE— h7Y h3Fans 4= 6 62
1271156 A HiT h9y TheF 6 57
128|)IENEE— 1Y 9FIE 44T 7 52
129|)ICEREE— 2y 9FIE4= 9 64
130[)ICATHTE— 7Y YEFAVI 447 7 55
131JILETHIE = 2y YEFANI 4= 6 59
132)ICEFHTE= WY YEFAVIAYY 4 49
133|ZHETR—TH YRFAgn Y AyFans| 2 41
1B4|FEFEAE—-"TH [IWWFa=F-=Fa94| 11 107
13| ANAE— YOV 447 5 78
136 fAHE— YFv84= 5 67
137| L #EHE— 0T V44T 6 100
138| L #THE— 0T V4= 8 90
139|dL#FHE= FROTVEAYY 9 85
140|132 B EE— AT/IV54141F 8 70
141z BEZ A7/3v4°4= 4 31
12| aE= AT/ 4%y 7 61
143|492 & SRHT BT/AYTAIFAY 8 57
144| 1% [ BT YhngFan 6 80
145|BIL=TH Y T=Fay A 4 61
146|=IL=TH ARYVYUFINA 7 71
147/ TH Ahv33vFan A 5 77
148 |SHET—T B Y3 FIn4vFans 5 55
149|8RET— T H e w i W WL 2 38
150| X EH/—-ZTH 33%FAAF-ZFa0) 6 68
151|XER=TH 333FI0HUFINS 4 61
152 4 AHT $93% 739 3 34
153|FZHET—TH AR FIn4vFans 6 64
15450 —TH hAD Fay=Fans 4 65




JII7& 3 X 2/2

No. TEX 2UHF 2 B 4% T & %=
155 FAT=TH AR FaoHvFans 10 98
156 | = HETPA T B Ahy Fay3IvFans 4 38
157 | S HETATH ANE FI9T Fan ) 7 71
158| = HETATH AhE FayRyFans 3 105
159|ILABT—TH YYEMFIVAvFInS 7 65
160|IUIABT =T H YYEbFI9=Fa94 4 28
161 IULART=TH YYErFIOYUFIVS 6 70
162| ILUIARTPAT B YYELFIVIVFINS 5 46
163|LUART R T B YYELFIVT FIA 2 16
164| T mBT—T B FheFau{yFans 14 91
165|FrfI—-=TH FhFIn=-YUFInA 14 93
166|FET—T B AT FFI94yFans 5 50
167|FH=-=TH AT FFIY=-HUFAOA| T 123
168 |3A] PRI T 19937739 4 59
169 | BEIREE — R4 414F 5 34
170(EAtREE — tER4(= 4 37
171)iEZ2F TH/547 2 16
172|# 2R #4479 2 15
173|% 2K 1F/32 2 11
174|225 157543 2 15
175|2H NIy 2 10
176| RE Th 4t 2 7
1778 K JhE 2 10

290 3,013




I i X 1/1

No. TR 2UHF 2 B 4% T iE &
178 4t Thh3 6 46
17978 ILA Avh¥ey 3 19
180 | F# A THN 4 2 13
181|HZE AhE 6 34
182| = VE 739% 3 20
183[fin iRk 71T4% 2 9
18415 /X ZIAY) 2 6

24 147




= HEhX 1/1

No. TEX 2UAF [EE T & %=
185|FEZE A 7 76
186 |25 HIL# e e 10 95
187[/MNRE— MRAIN44F 4 34
188|/NRE— MR'I44= 4 36
189[/MNRE= MR Ty 4 41
190|18R an 4 36
191|dLEBIRE— 97T NI A4F 4 26
192|L88IRE — 774 hE 4= 3 36
193|LEBIRE= FTTH Iy 7 59
194 |F SRR SFIF7Hh 9 86
1955 5%— CUVAY Rk 6 63
196|E 5% ahyIE 4= 5 50
197 |#85E— NFEA4F 4 30
198|855 — NFE4= 4 25
199|FhF ThT 1 5
200|F1 Tha'45 4 16
201|471l VR KS 6 31

86 745




T&EBX 1/1

No. TR 2UHF 2 B 4% T & %=
202| L #HEHE— NIVUT VT 41T 5 52
203| L#EHEZ hEUTUH 4= 4 35
204| L HHAE= NEVVT VT Ay 3 36
205| L #TEH ST IYUT V4T 5 49
206 LLIEE %'y 3 18
207|[® ny 6 64
208|t A% A2V 2 13
209 5% 17/ 5 68
210| F &5k HT Ty anYhizay 8 78
211 | FEHIEY VS =L WL 4 43
212| %R YL\ 4 45
213| 27 H /5 2 16
214|8&R h=%'7 2 16
215| &k AN 9 66
216| T AT YEWY Vo ) 7 62
217)1L4R Y4 2 12
218|B /]l n4/6°9 6 54
219\ %R YUk 3 20
220|7k 00 YWk 6 60
221| & T Ty anvEe 5 20
22231 5F YAy 2 13
223|filz 1L tv/¥% 1 10
224 | 343 2 10
225|iE %7 A9/ 3 19
226| = F 753 2 12
227|FEA h'vzay 1 4
228 |1 5F vt/ 2 8

104 903




JKiR 3 X 1/2

No. TEX 2UHF 2 B 4% T & %=
229|KiRE— IAHI 147 2 30
230[7KRE= IAHI4= 2 28
231|KIRE= R4y 2 28
232|BI5E— NIV 41F 5 33
233|BIHE— NNg4= 5 32
234|BIFE= NINEAHY 5 34
235|H 155 MY NNE43Y 8 55
236| KHEE— 11495117 5 31
2371 KHEHEZ 114 35°4= 4 24
238| KHEE= 119 514y 4 32
239/t HEE— MAFE 44T 10 89
240| X HE— MAF44= 9 115
241 |+ THE= MAFEAHY 7 83
242|+ M MAFH 43 7 71
243| X THEHR MAFF4T 8 105
244 FTEE— YUY 141F 8 58
245\ EE Y4z 4 43
246 | {FEE— FI544F 4 48
247|1REE = 384 4 47
248|fREE= FIEAHY 4 45
249 | R E I PT84y 4 45
250/ KEBRE— 145 494147 5 47
251| KEIREZ 145 4954 5 48
252 KERE= 115 a9 44y 5 52
253| KBIRE T4 eYoeny 7 35
254|/NERIR 15°047 3 32
255|K it 74T 1 11
256 |HE iyt 8 38
257|ith /7L 1579 0 0
258\ % 5 )k 1 3




JKiR 3 X 2/2
No. TEX 2UHF 2 B 4% T & %=
259|ith iR 1749 2 10
260|FF J1h 1 2
261 | $HkAAIR HIn’ % 2 8
262|478 7Iv 3 12
263| XA 144y 3 18
264|FE 1'% 4 9
265|PFER Th¥'4r 3 21
266| /KR /iR IAHIM4F/HT 3 15
267|Ek)11 4300 4 35
268| £ FE— AN45° 447 4 36
269| £E— AN 45 4= 4 34
270| R&EF 7yaA9Y 6 31
271 | SEHT ¥494F39 5 84
190 1,657
HhX £ TEUX 38 (2 5 %% L
+ BT 71 370 3,609
hE 53 310 2,991
NnE 53 290 3,013
ANES] 7 24 147
=H 17 86 745
ES 27 104 903
KR 43 190 1,657
=¥ 271 1,374 13,065




J11 8 th 5 1/2

No. TR 2UHF EES3 T iE &
272| 4 SHT THhY 3F39 4 45
273 1L %7 H ¥v/4% 2 20
274| R EFEYHE NIT VAN Y=Y 5 56
275| R EBIBEYRE T VYN AR’y 5 50
276|EE& 3F384 4 29
277|FFKHT oY A hIFIy 5 52
278| 58 H BT THEFID 4 42
279| P4 BR3E Yagh % 4 27
280| HESF AV 4 31
281|FF LHT Uy ahiFan 3 23
282| 1 SR HT Fa949%3n 2 16
283 | FH FR T a1h¥ay 3 34
284 |ttt HT YA V) 4 34
285 | ZFAX AT h'yavFay 4 48
286| HEH Thev% 3 36
287\ E 774 4 35
288| K& a2k 3 43
289 | ELHT VEwED) 3 31
290/ % 31 1357 8 78
291K 1b% 8 76
292| = /R H ahn74° 4 59
293 |1 1L P2 4 4 38
294|585 YEVIY 4 43
295|858 )%= 1 7
296| L %% 1) 20 175
297| A DY) [ ih Vs 5 28
298| STHT £heF 6 50




J11 8 th 5 2/2

No. TEX 2UHF EES3 T & %=
299 | i HT %7 H TIRFIITY 6 57
300| FFEFTH VAR ATYIT Y 5 48
301 | =% yPJEW) 3 26
302|/MRE 1%y 1 15
303| K% a1 8 85
304|557 I TR 1 7
305|15 = YAh7 2 17
306 |{= H =4 12 134
307|%00 ki 10 103
308|mH+#> YY'a97 1 2
309/ M Ny 3 25
310|4RE 27'h 3 17
31| TR VAN 2 14
3124 liFA Thtvy 59
B EES INs VK4 29
314|/M 17% 1 8
315|& - ahh7 1 7
316|HF ar 1 7
NT|F/H 7hiz 6 31
318|Fi#A 17t 5 34
19| KHE 149397 3 8
3201/hEE Y793 2 23

212 1,962




rp BB 3 i 1/2

No. TEX 2UHF 5% T & %=
321|FR 1E47 5 34
322|HIR A ARy YY 7 94
323 | HIR Eh Y5410 3 20
324|003k <F 34y 9 85
325|228 EWAN 1 6
3264 17 3 28
327| k1L 7Y~ 14 162
328| M a1 8 76
329|/NR ang 4 58
330| Fi& £y 8 88
331 | E Jidvh 16 112
3321115 vt 11 110
333 | AR IR F4aung 1 9
334|5EY L bAYYY 8 76
335| = aE Ll 93TV 3 23
336 | A AKIR S, 2 13
337|=R S 1 6
338 il 1373y 3 26
339 | ahn’ 1 6
340|BFE YINg 3 21
3 |EE w3 3 14
342| RH R Eh' Y4y 4 30
343 | A ] Vkd 3 15
344|#&R LYy 547 1 9
45|+ & 9197 2 11
346|8F 9394 3 3
347)/MH M7 5 34
348|F5 A Y4%D 1 1
349|FHHFR oA 1 2
350| 3 )II#H AENIYIT Y 1 11




rp BB 3 i 2/2
No. TEX 2UHF EES3 T & %=
351 %1 1Eh'D 33
352|E1= h334 9 66
353 | [ T NGF 1 7
354|# 2 77t 1 5
355|F ih Yy 6 47
3565 HLL 44 Yv 2 14
357 BTl ThitvEYY 3 15
358|EH 1% ayn 3 25
359 |FEH 7Y% 4 25
360| A E B EMVE 6 46
361|JE2 N /0¥ 7 59
362| =& Y1 8 77
188 1,602




s 1/2

No. TEX 2UHF EES3 T & %=
363|#a V44 55 420
364/ EF a7k 5 22
365| A F a4~ 4 6 35
366|E X Ah'hY 3 22
367 | X HIR IVEA54T 2 18
368|/NEH arel 0 0
369 |ith . 4 157043 1 5
370| AKX Tl IYFAYEYY 1 9
3N |TFEF Fht 5 45
32| FE THIN 3 23
373t R 1597 2 6
374|=iR 7447 3 13
375[:FK VIR 2 8
376 4 LLI )vv 1 3
37NEF ER ) 4 36
378K ERIL YA MR 1 2
379|iEE h407 4 4
380| R{K 127y 6 61
381 ih 97 4 18
382| FrRLL 3% ee 1 5
383|;&iR 2347 1 7
384|hF THha 1 3
385|% /9% 3 20
386|HEFE 8797 5 30
387 filiA /9 2 8
388|Eh TH'3E7 3 16
389|3F H 774 4 16
390| % F FEoYy 1 4
39134 hEY 6 45
392| & BA 339 & 40
33|15 2993 2 11




sk 2/2
No. TR 2UHF EES3 T iE &
34| ZBT 1757 10
395| =% L/ 20 81
396 | 1T Fhr 44kan 2 13
397| 2l bl 6 28
398| RFIHIR 37407 3 15
175 1,102




# iz L3 ik 1/2
No. TR 2UAF EES3 T iE &
399tz 1l /%% 21 105
400| &0 INEWi 2 12
401 | fH [@:)%4 2 6
402 | #7111 77%% 4 21
403 [k B4 IRty 4 20
404|/NE 14= 4 17
405| KFEF 147 7b 5 11
406| FIIF YENIT 6 25
407| EJIF 9T 7 29
4085 1L 1vv 8 54
4095 2 1tk 33 184 B, Tk, Ak
410| KKt TRy 0 0 %li—gg;%m:
411|RKS TYIAYN 0
412\ E V93 1 11
M3 E Tht 3 12
414|581 (@ 2] 2 18
415| 85 hiTEAr 4 16
416| TR YEIEAS 1 4
417\ B+FF 13543 2 7
418|157 vik'/ 2 11
419\ Zz ILFRE XY ¥ITHhY7 2 6
420 |2 2 ILER I IY/IXIED YRR 2 6
421 | B[R Y1 2 8
422| B4R % 4 15
423 |3 H YTV 2 7
424|211 1/%% 2 5
42552 5 193 5 20
426|371 ThyTvv 3 6
427\ FE L 4L 4T 2 7
428 A it Phwi/s 2 2




iz Ll sk 2/2

No. THX 2UHF EIER 5 T &5 &
429|3r Yhih 2 5
4302 =LA 3 12
431(db i H $497% 3 13
432|178 Z Bl —YJ3I 3 16
433|128 hn%37 5 24
153 715
thisi £ ITHRXEE EIEH |HEH
+ B ET #hig 271 1,374 13,065
Iicp:ched 49 212 1,962
o B Hhigi 42 188 1,602
K Hhig 36 175 1,102
2 1LiHhig 35 153 715
a&t 433 2,102 18,446




